CATAHOULA PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated (Total)		8,900.0	1,110.00	9,879,000	lbs.	\$4,757,726
Lint - Non-irrigated (Total)		44,284.0	1,110.00	49,155,240	lbs.	\$23,673,164
Seed - Irrigated (Total)		8,900.0	1,776.00	15,806,400	lbs.	\$761,868
Seed - Non-irrigated (Total)		44,284.0	1,776.00	78,648,384	lbs.	\$3,790,852
Cotton (Total)	76	53,184.0				\$32,983,611
FORESTRY						
Pulpwood						
Pine				25,754	cords	
Hardwood				16,774	cords	
Pulpwood (Total)				42,528		
Chip & Saw (Total)				7,351	cords	
Saw Timber						
Pine				6,713,309	board feet	
Hardwood				2,128,288	board feet	
Saw Timber (Total)				8,841,597		
Total Pulpwood, Chip & Saw,						\$8,459,679
Saw Timber FOB Mill						
Total Forestry Stumpage						\$4,446,676
(Total)						
Forestry (Total)						\$8,459,679
FEED GRAINS						
Corn (Total)	61	15,573.0	110.00	1,713,030	bu.	\$4,539,530
Grain Sorghum (Total)	34	11,981.0	60.00	718,860	cwt.	\$3,368,578
Oats (Total)	*	1,108.0	45.00	49,860	bu.	\$88,252
Feed Grains (Total)		28,662.0				\$7,996,360
HAY FOR SALE						
Grass (Total)	15	3,110.0	1.20	3,732	tons	\$344,837
Hay for Sale (Total)		3,110.0				\$344,837
Home Gardens (Total)	250					\$50,000

NURSERY CROPS						
Woody Ornamentals (Total)	*				acre	\$50,000
Foliage Plants (Total)	*				acre	\$2,000,000
Nursery Crops (Total)						\$2,050,000
PECANS						
Improved (Total)	*	120.0	475.00	57,000	lbs.	\$74,100
Native (Total)	8	35.0	320.00	11,200	lbs.	\$10,640
Pecans (Total)		155.0				\$84,740
Rice (Total)	*	3,313.0	42.00	139,146	cwt.	\$1,238,399
Soybeans (Total)	88	52,432.0	28.00	1,468,096	bu.	\$8,597,170
VEGETABLES						
Tomatoes (Field) (Total)	*	1.0	250.00	250	lugs (20 lbs.)	\$5,000
Watermelon (Total)	*	1.0	150.00	150	cwt.	\$1,200
Vegetables (Total)		2.0				\$6,200
Wheat (Total)	11	4,676.0	56.00	261,856	bu.	\$1,050,959
TOTAL ALL PLANT ENTERPRISES						\$62,861,955
FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						

F: 1 .	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Crawfish (Farm) (Total)	*	140	Acres in Prod.	14,000	lbs.	\$16,800
Catfish (Farm) (Total)	*	125	Acres in Prod.	135,000	lbs.	\$103,950
Minnows (Total)	*	400	Acres in Prod.	94,000	lbs.	\$319,600
Fish bait (Total)	*			1,500	lbs	\$10,500
Alligators (Farm) (Total)				105	ft.	\$2,948
Turtles (Total)	42			1,300,000	each	\$845,000
Aquaculture (Total)						\$1,298,798
Alligators (Wild) (Total)				127	ft.	\$3,188
HUNTING LEASES						
Waterfowl (Total)	40	80,000	No. Acres		acre	\$4,000,000
			Leased			
All Other Game (Total)	50	85,000	No. Acres		acre	\$595,000
			Leased			
Hunting Leases (Total)						\$4,595,000
CATAHOULA PARISH						

CATAHOULA PARISH FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
Honey (Total)	*	140	No. Hives	8,000	lbs.	\$7,200
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES					\$5,904,186
	ANIM	<u>IAL ENTERPRISES</u>	PRODUCTION			
	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				1,010	head	\$502,076
400-500 lbs.				1,080	head	\$602,397
500-600 lbs.				320	head	\$195,906
600-700 lbs.				50	head	\$34,369
Steer Calves (Total)						\$1,334,747
Heifer Calves						
300-400 lbs.				1,490	head	\$657,768
400-500 lbs.				950	head	\$495,686
500-600 lbs.				100	head	\$57,811
Heifer Calves (Total)						\$1,211,265
Yearling Cattle						
700-800 lbs.				250	head	\$178,031
Yearling Cattle (Total)						\$178,031
Cow-Calf Pairs (Total)				160	pair	\$152,034
Cull Cows (Total)				600	head	\$226,950
Cull Bulls (Total)				20	head	\$16,911
Cattle & Calves (Total)	142	5,680	No. Cows			\$3,119,938
HORSES						
Brood Mares						
Race Horses	*	60	No. Brood Mares	40	head	\$320,000
Show Horses	15	60	No. Brood Mares	45	head	\$180,000
Recreation Horses	10	40	No. Brood Mares	30	head	\$45,000

HORSES			
Brood Mares (Total)			\$545,000
Stud Fees			
Race Horses		3 No. Stallions 40	mares bred \$100,000
Show Horses		3 No. Stallions 30	mares bred \$45,000
Recreation Horses		6 No. Stallions 30	mares bred \$15,000
Stud Fees (Total)			\$160,000
Race Horses (Total)	*	12	head \$144,000
Show Horses (Total)	75	100	head \$500,000
Recreation Horses (Total)	50	75	head \$112,500
Horses (Total)			\$1,461,500
GOATS			
Show Goats (Total)		4	head \$1,000
Slaughter Goats (Total)		300	head \$37,500
Stocker Goats (Total)		25	head \$2,375
Cull Goats (Total)		55	head \$3,575
Goats (Total)	11	200 No. Does	\$44,450
SWINE			
Feeder Pigs (Total)		50	head \$1,500
Slaughter Hogs (Total)		100	head \$12,022
Culls (Total)		10	head \$1,600
Swine (Total)	*	20 No. Sows	\$15,122
TOTAL ALL ANIMAL ENTERPRISES			\$4,641,010

CATAHOULA PARISH \$73,407,151 95